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Chapter : Geometry

(1) In the given figure,PQRS is a square and SRT is an
equilateral triangle. What is the value (in degrees) of
£SOR?

&Y 1% 3Tl #,PQRS Teh G4 & AT SRT Teh HASTE
39T 8] £SOR 1 #1eT 39l ek &7

P

R
SSCCGLOBAUG-S3 : 65

(a) 45 (b) 55 (c) 60
(d) 75

(2) ABCD is a parallelogram in which AB = 7 ¢cm, BC =
9 cm and AC = 8 cm. What is the length (in cm) of
other diagonal?
ABCD Teh T Tqelst & foras AB =7 .4, BC =
9 T, TAT AC = 8 .. ¥l gEX Fashot Y oS (|
) el &7
SSCCGLOBAUG-S3 : 66
(a) 14 (b) 14V2 ©7

(d) 742

(3) How many diagonals are there in octagon?
3rses]eT # fohctel faehoT g1 &2
SSCCGLO8AUG-S3 : 67
(@) 12 (b) 14 (c) 20

(d) 24

(4) A square is inscribed in a quarter circle in such a
way that two of its adjacent vertices on the radius are
equidistant from the centre and other two vertices lie
on the circumference. If the side of square is V(5/2)
cm, then what is the radius (in cm) of the circle?

T AIATS I H Ueh G971 SH YehIR S=ATT I1AT § kY 3T
P X Reurd ar dereet oY &g & GAT gt W Farar

3= oy aRfer o) e €1 Ffe; a9t ogar V(5/2) A,
g, ar ga & Brear (@ J) = g?
SSCCGLOSAUG-S3 : 68
(@) 2 (b) 2.5 (© 5
d) 10

(5) In AABC, AD is the median and AD = (¥2)BC. If
2ACD = 40°, then what is the value (in degrees) of
+DAB?
3151 ABC #, AD \fET=HT § U1 AD = (4)BC 1 afe
£ACD = 40° &, df 2DAB T HIeT (f33Y #) 37 gremm?
SSCCGL10AUG-S1 : 65
(a) 30 (b) 40 (c) 50

(d) 80

(6) Circum-centre of AABC is O. If BAC = 75° and
£BCA = 80°, then what is the value (in degrees) of
20AC?
337 ABC T aRehg O &1 I £BAC = 75° AT £BCA
= 80° &, d LOAC &T AT (T3t #) = gream?
SSCCGL10AUG-S1: 66
(a) 45 (b) 65 (c) 90

(d) 95

(7) In the given figure, MN= RM =RP, then what is the
value (in degrees) of ZMPR?

& a1$ 3T A, MN=RM= RP 8, a ZMPR &1 #TeT (f3afr
q)FTR?
)

1021

Q. P M l N

SSCCGL10AUG-S1 : 68

(@) 47 (b) 68

()72  (d) Cannot be determined JTd AT f&vam =T
vl

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com

(8) In the given figure, PQR is an equilateral triangle
an PS is the angle bisector of 2O. What is the value of
RT: RQ?

& a1$ 3mfa #, PQR WW@%&H%’H&TPSAP Ea)
10T GIIHTSTH & | RT:RQ T AT FAT 82

.rJ-

SSCCGLOSAUG-S2 : 66

(@1:2 (b)y1:1 (©2:1
(d)1:3

(9) Two chords of length 20 cm and 24 cm are drawn
perpendicular to each other in a circle of radius is 15
cm. What is the distance between the points of
intersection of these chords (in cm) from the center of
the circle?

15 QY. hr BIs2m arel Ueh g A 20 QAT 7T 24 AT,
T &Y STaT3HT Y Teh GER IR Sfeae Wiem ST &1 99 &
ey TUT 3T SET3HT Y hreat arel Taig o o & glr (A7
) fraetr &2

SSCCGLOBAUG-S2 : 67

(@) V114 (b) V182 (c) V206
(d) V218

(10) In the given figure ,DE||BC and AD : DB= 5:3, than
what is the value of (DE/BC)?
& a1$ 3epfal # \DE|BC AT AD : DB =5:3 % &
(DE/BC)aT AT FAT§ ?

A

B ' G
SSCCGLO9AUG-S2 : 65
(a) 5/8 (b) 2/3 ©) ¥
(d) 5/3

(11) PQRS is a cyclic quadrilateral and PQ is the
diameter of the circle. If ZRPQ = 38°, then what is the
value (in degrees) of £PSR?

PQRS Teh TshIY TP & cTT PQ el T <A & | I
£RPQ = 38° &, AT PSR &r AT (f33ft #) fhctetr 87
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SSCCGLO9AUG-S2 : 66
(a) 52 (b) 77 (c) 128
(d) 142

(12) ABCD is an isosceles trapezium such that AD||BC,
AB = 5cm, AD = 8 cm and BC = 14 cm. What is the
area (in cm?) of trapezium?
ABCD quafaa@w% fS9# AD|BC, AB =5
{7, AD = 8 @.#. TUTBC = 14 A7), §| GHoIS HT
&Yl (.HT: /) FTE?
SSCCGL11AUG-S1 : 67
(a) 36 (b) 44 (c) 88

(d) 144

(13) In the given figure , ABCD is a rectangle . F is a
point on AB and CE is drown perpendicular to DF . If
CE=60 cm and DF =40 cm ,than what is the area (in
cm?) of the rectangle ABCD?

&1 1S MR A |, ABCD U I § |F ,AB T U g &
TUT CF,DF W oF e & [If; CE=60 & . #Y .J2T DF=40 & .

#r & ,aY 3T ABCD T %ol (& #r 2 3) Far g
D C

A F B
SSCCGL12AUG-S1: 53

(@) 1200 cm> (b) 1800 cm?
(c) 2400 cme (d) 2800 cm>

(14) In the given figure , DE||BC and DE = 1/3 BC. If
area of trangle ADE = 20 cm?, than what is the area (in
cm?)of triangle DEC?

& a1$ 37ehfd & DE||BC 4T DE = 1/3 BC § [Afe egst
DEC T 819%l (4. #r &7 )Far g ?

A

8 C
SSCCGL12AUG-S1: 66
(a) 40 (b) 60

(d) 120
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(15) In APQR, £QPR = 45° and the bisectors of 2PQR

and £PRQ meets at O. What is the value (in degrees)

of £LQOR?

APQR H, £QPR = 45° AT £PQR TUT £PRQ &I

fastrsieh fig O WX fAerar &1 £QOR &1 AT (330 #)

FIT BI?

SSCCGL12AUG-S2 : 65

(@)107.5 (b)112.5 (©)117.5
(d)122.5

(16) In the given figure , PQRS is a rectangle and PTU
is a tringle .if PQ=11 ¢cm, UR=8 cm, TR=1 cm and
QT=3 cm, than what is the length (in cm) of the line
joining the mid point of PT and TU?

& a1 3hfal A PQRS Teh 31T § T PTU Uah 7T B |
g PQ=11 8. & . UR=8cm ¥ . &Y. TR=1& . & qur
QT=3d . #.§ .l PT TN TU & HEY foig I fAeet arelr

@ Hr oFars (T AL T ) FmR ?

SSCCGL12AUG-S2 : 67
(@) 2.5 (b)3
(d)5

(17) In the given figure ,area of isosceles triangle PQT
is 72 cm? If QT =PQ=2 PS and PT||SR, than what is the
area (in cm?) of the trapezium PQRS?
& 915 1T A, AAGfASTE R3get PQT &1 el 72
28 QT =PQ=2 PS T PT||SR &, A Tl PQRS FHr
TG (T A FH)FAg?

5 P

R T aQ

SSCCGL12AUG-S2 : 68

(a) 144 (b) 216 () 256
(d) 288

(18) In the given figure, PQ = 30, RS = 24, and OM =
12 cm then what is the value of ON?

& 1% 3MHF 3, PQ = 30, RS = 24, 31X OM = 12 cm, &
ON T HTT FIT 87
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Py =0

SSCCGL11AUG-S2 : 66
@9 (b) 12 (©) 15
(d) 18

(19) In the given figure, PM is one-third of PQ and PN
is one-third of PS. If the erea of PMRN is 17 cmz, then
what is the erea (in cmz2) of PQRS?

&1 a1$ 3Mhi &, PM, PQ Teh f¥gTs & 7T PN, PS T Ueh
fagTs &) IfE PMRN &7 &ther 17 A7 §, at PQRS &7
&hel (X3 7) FATE?

M
2 Q

N |

S R
SSCCGL11AUG-S2 : 68
(a) 34 (b) 51 (c) 68
(d) 85

(20) The areas of two similar triangles AABC and APQR
are 121 sq cms and 64 sq cms respectively. If PQ = 12
c¢m, what is the length (in cm) of AB?
ar gaey 3875 A ABC3IR A PQR T &1thel ST 121
I T, 31T 64 FET AT, §1 IS PQ = 12 Y. gr AT AB
& FiaTg (F. #7) et 87
SSCCGL17AUG-S2 : 68
(@) 7.25 (b) 6.25 (c) 16.5

(d) 5.25

(21) A XYZ is right angled at Y. If £Z = 60°, then what
is the value of (1/¥2) Sec X?
AXYZ, Y REAROTE| AT 27 = 60° &, @ (1/2) Sec X
T A HAT &7
SSCCGL17AUG-S2:70
(a) 2/73 (b) 1/6 (c) 143

(d) 2/6

(22) In the given figure , ABCD is a rhombus and BCE
is an isosceles triangle ,with BC=CE, 2CBE=84° and
2ADC=78°then what is the value (in degrees) of
£DEC?

&1 a1$ 3Thfdl H ABCD Ueh HHUST § YT BCE Toh
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TefaaTg 3e7sT & f@# BC=CE ,£CBE=84" T
£ADC=78°§ ,d £DEC &T A1l (f3aft #) T &

A B

D C
SSCCGLO9AUG-S3 : 67
(a) 20 (b) 28 (c) 33
(d) 36

(23) In the given figure, ZAMB=130°, than what is the
value (in degrees) of ZABQ?

& a1$ i A, LAMB=130° & ,ar 2ABQ &1 AT (f3aft
H)FATE?

.

M

C; -

SSCCGL16AUG-S3 : 66

(a) 40 (b) 50 (c) 60
(d) 90

(24) In the given figure, AP=3 cm, AR=6cm and
RS=9cm, than what is tha value (in cm) of PQ?

& arg 3mpfar 7, AP=3 A3l AR=6 A1 . FUTRS=9 &
Hr gl A PQ T AR (& H)FmE ?

e ¢,

[

SSCCGL16AUG-S3 : 67
(@9 (b) 12 (c) 18
(d) 27

(25) In the given figure, a circule touches quadrilateral
ABCD. If AB =2x+3,BC=3x-1, CD=x+6 and DA=x+4,
than what is the value of x?

& 318 31TRfet 3 Uk g IGeST ABCD &1 ¥ 9 @ &
[af& AB =2x+3,BC=3x-1, CD=x+6 TT DA=x+4, & , al x

FTATFATE ?
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SSCCGL16AUG-S3 : 68
(a3 (b) 4.5 ()6
(d) 6.5

(26) Triangle AXYZ is similar to APQR. If XY:PQ=5:1. If
Area of APQR is 5 sq cm, what is the area (in sq cm) of
AXYZ?
9T AXYZ, APQR & THET B T XY : PQ=5: 13K
APQR T &%l 5 JIT AAY. &, A AXYZ T &1l (TT
[AY. F) HATEIM?
SSCCGL18AUG-S2 : 68
(a) 125 (b) 120 (c) 100

(d) 64

(27) D and E are points on side AB and AC of AABC.
DE is parallel to BC. If AD:DB = 1:2 and area of AABC is
45 sq cm, what is the area (in sq cm) of quadrilateral
BDEC?
AABC & AB 3T AC 8fsTT3fl D 3R E @I fig &1 DE, BC &
HHTAR g1 I AD : DB = 128 3R AABC T 8190 45
91 QY. 8, o IJeIT BDEC o1 &1t (F91 Wat. ) ham
87
SSCCGL18AUG-S3 : 68
(a) 20 (b) 40 (© 15

(d) 30

(28) D and E are points on side AB and AC of AABC.
DE is parallel to BC. If AD:DB = 2:5 and area of AADE is
8 sq ¢cm, what is the ratio of area of AADE: area of
quadrilateral BDEC?
AABC T $1sTT3iT AB 3R AC WX D 3iR E g &1 DE, BC
& AR &1 I AD : DB = 2 : 5 § 3R AADE &7 813%e
8 31 @I, §, A AADE o &1l : Tf8{oT BDEC &1ther:
T3ST BDEC & &Tthel o 37eIdTel 3T &7
SSCCGL18AUG-S1: 68
(a) 4:45 (b) 45:4 (c) 8:45

(d) 45:8

(29) D and E are points on side AB and AC of AABC.
DE is parallel to BC. If AD:DB = 2:5 and area of AADE is
8 cm sq, what is the area (in sq cm) of quadrilateral
BDEC?

AABC, 3T 87113t AB 3R AC W D 3R E ig €1 DE BC

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com

F AR &1 I AD : DB =2 : 5 § 31X AADE T 8190l
8 391 QY. §, A TgalsT BDEC T &Tathel (331 4o, #)
FATE?
SSCCGL19AUG-S1 : 68
(a) 98 (b) 94 (c) 90

(d) 86

(30) In the given figure ST||RP, then what is the value
(in degrees) of supplementary angle of y?
&1 318 3T 7 ST|RP, Al y & HYTh 10T A1 AT (3l
HyFarg?

T, P

2x"

Q S
SSCCGL16AUG-S2 : 65
(a) 10 (b) 60 (c) 100
(d) 170

(31) In the given figure,TB passes through centre O.
What is the radius of the circle?

&1 1S 3Tl # , TB et O A IoRell & | Ief T Frsam Far
g7

P 4 A B
SSCCGL16AUG-S2 : 66
(@) (2\5)/3 (b) (3¥2)/5
(d) (2v3)/5

(c) (3V5)/2

(32) AABC is right angled at B. BD is its altitude. AD =
4 cm and DC = 12 cm. What is the value of AB (in
cm)?
AABC, B TR HHIUT §| BD 38T 3a1s §1 AD = 4 T,
3R DC = 12 I, &1 AB (AT, 7) 1 AT FHaT &2
SSCCGL19AUG-S2 : 68
@39 (b) 10 ()6

(d) 8

(33) AXYZ is similar to APQR. If ratio of Perimeter of
AXYZ and Perimeter of APQR is 16:9 and PQ = 3.6 cm,
then what is the length(in cm) of XY?

Free Study Material Join: Telegram.me/ExamsCart

AXYZ APQR THET & | Tfe AXYZ Fr aRf&r 31w APQR i
aRTE 7 39Tl 16 : 9 & R PQ = 3.6 Wall. &, ot XY
dars (Qe. /) fraer 87
SSCCGL19AUG-S3 : 68
(a) 4.8 (b) 3.2 () 6.4

(d) 8.6

(34) AABC is similar to APQR. If ratio of perimeters of
AABC and APQR is 1:2 and if PQ = 10 cm then what is
the length of AB (in cm)?
AABC & APQR & aRfErt &hr 3refdre 1 : 2 & 3R Ife PQ
=10 ¥+ §, A AB Fr FiaTS (FH. 7) HATE?
SSCCGL20AUG-S1 : 68
(@5 (b) 20 (c) 25

(d) 15

(35) AABC is similar to APQR. If ratio of perimeters of
AABC and APQR is 3:7 and if PQ = 21 cm, then the
length of AB (in cm) is?
DABC, A PQR & FHT g1 afe AABC 3R APQR &1
aRTErT &7 e 3 : 7 § 3R I PQ = 21 AT & T AB
&Y oS (. ) hae &7
SSCCGL21AUG-S1 : 68
(@) 6 (b) 14 (©9

(d) 18

(36) AABC is right angled at B. BD is an altitude. AD =
3 cm and DC = 9 cm. What is the value of AB (in cm)?
AABC , B I GHIUT §| BD 3T FA1S & | AD = 3 T,
31k DC = 9 @Y. §1 AB (AT, #) FT AT HAT§?
SSCCGL21AUG-S2 : 68
(@) 6 (b) 5 () 4.5

(d) 5.5

(37) In the gien figure, LQRN=40°, 2PQR=46° and
MN is a tangent at R. what is the value (in degrees) of
X,y and z respectively?

& a1$ 3Tl H LQRN=40°, 2PQR=46° 74T MN fdig R
IR Ueh T @ & | haAT: X,y TAT z T AT (B3 ) 7w

g7
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SSCCGLO5AUG-S1 : 67
(a) 40, 46, 94 (b) 40, 50, 90
(c) 46, 54, 80 (d) 50, 40, 90

(38) In APQR, £R = 54°, the perpendicular bisector of
PQ at S meets QR at T. If £TPR = 46°, then what is the
value (in degrees) of PQR?
APQR# , £R = 54°, féig S & PQ T HHCATSTH ofFel
QR & foig T oX fArermer 1 I £TPR = 46° &, dF .PQR
T AT (33l ) &Far greme?
SSCCGLO5AUG-S1 : 68
(a) 25 (b) 40 (c) 50

(d) 60

(39) D and E are points on side AB and AC of AABC.
DE is parallel to BC. If AD:DB = 2:5 and area of AABC is
98 cm sq, what is the area (in sq cm) of quadrilateral
BDEC?
AABC T AB 31k AC #7sT13it oY D 3iR E fig &1 DE BC &
FATR &1 If& AD:DB = 2:5 § 31T AABC &7 8190l 98
97 AT &, A T3St BDEC T &iathel (331 9.1 H)
FATE?
SSCCGLO6AUG-S1 : 68
(a) 90 (b) 98 (c) 94

(d) 86

(40) If length of each side of a rhombus PQRS is 8 cm
and £PQR = 120°, then what is the length (in cm) of
Qs?
e FHEIST PQRS hT Tcdeh $iT 1 ooaTS 8 A §
JAT £PQR = 120°, dr QS I ore=rs (J.3Y. 7) Far gefe
SSCCGLO8AUG-S1: 66
(a) 45 ©8

(d) 12

(41) In the given figure , ABC is a triangle. The
bisectors of intermal 2B and extemal «C interst at D. if
£BDC=48°, than what is the value (in degrees) of 2A?
&1 1S 3T &, ABC Ueh TH3[ST §| 2B U ST6T £C T
festreTeh fig D R wfddg sxar & | i «BDC=48° &, T

(AFTAR (B a) Farg ?
A

Free Study Material Join: Telegram.me/ExamsCart

SSCCGLOBAUG-S1 : 67
(a) 48 (b) 96 (c) 100
(d) 114

(42) In the given figure, O is the center of the circle
and 2DCE = 45° . If CD = 102 cm, then what is the
length (in cm) of AC, CB=BD

&1 1S 3T H 0 gl &l eher &, AT 2DCE = 45° ¥ | AfE
CD =102 @ #1. & Y AC frooams (& &7 ) Farg 2
CB=BD

E

SSCCGLOBAUG-S1 : 68
(a) 14 (b) 15.5 (c) 185
(d) 20

(43) AXYZ is similar to APQR. If ratio of Perimeter of
AXYZ and Perimeter of APQR is 4:9 and if PQ = 27 cm,
then what is the length of XY (in cm)?
AXYZ APQR & HHTS g1 TG AXYZ 3R APQR Fr aR&T
1 3FgaTcT 4:9 § 3R TG PQ = 27 AN §, &Y XY T ofarg
@A 7)) fFae g7
SSCCGL23AUG-S3: 68
(@9 (b) 12 (c) 16

(d) 15

(44) AABC is right angled at B. BD is an altitude. DC =
9 cm and AC = 25 cm. What is the value of BC (in cm)?
AABC , B IR §H®IUT ¢ | BD 3 3A1$ § | DC = 9 &3,
3R AC = 25 5T, § BC (&.#1.3) &7 AT &7 1912
SSCCGL20AUG-S2 : 68
(@) 12 (b) 18 (c) 16

(d) 15

(45) D and E are points on side AB and AC of AABC.
DE is parallel to BC. If AD:DB = 2:3 and area of AADE is
4 sq cm, what is the area (in sq cm) of quadrilateral
BDEC.

AABC T #7eTT AB 3R AC oY D AR E fdig &1 DE, BC &

A &1 Ife AD:DB = 2:3 3T AADE &7 8190l 4
QA1 8, A TgelsT BDEC 1 &1l (991 @4, 7 ) Frar g7

SSCCGL22AUG-S3 : 68
(a) 25 (b) 21 (©5
(d)9
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(46) The areas of two similar triangles AXYZ and APQR
are 100 sq cms and 25 sq cms respectively. If PQ = 4
c¢m then what is the length of XY (in cm)?
AXYZ 3T APQR 3T &1 HHATeT fI37sT o &l shaferl: 100
a7 Ffeaex 31T 25 aet dfeafex &1 afe PQ = 4 dfeaex
g, ar XY &7 oiars (dfeefiex ) war ?
SSCCGL22AUG-S1: 68
(@) 16 (b) 14 ()8

(d) 20

(47) D and E are points on side AB and AC of AABC.
DE is parallel to BC. If AD:DB = 2:3 and area of AABC is
100 sq cm, what is the area (in sq cm) of
quadrilateral BDEC?
AABC T 8T AB 3R AC X D 3R E fSig §1 DE, BC &
AR & &g AD: DB = 2:3 §, 3iR AABC T &1 ther
100 ar3T F.#T. &, A TI3{sT BDEC T &Tthel (o7 .1 &
)FATE?
SSCCGL23AUG-S2 : 68
(a) 84 (b) 16 (©) 25

(d) 75

(48) The areas of two similar triangles AABC and APQR
are 36 sq cms and 9 sq cms respectively. If PQ = 4 cm
then what is the length of AB (in cm)?
A ABC 3R A PQR &1 &1 T T381siT & &Tthel hael: 36
T TR 3R 9 T HEFHe § | Rg PQ = 4 &R
g, ar AB & oaTS (A & ) FaT 7
SSCCGL20AUG-S3 : 68
(a) 16 (b) 12 (€8

(d)6
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Answer Key

1 |D]2 (A3 |C|4

6 |B|7 |B|8 |B|9

11|C|12(B[13|C|14

16]A|17|A[18|C[19

21(D[22|C|23(B|24

31|C|32|D|33|C[34

36|A|37|A[38|B|39

OO0 |®[(>P(AO|®
O aonfnjm|>(N

41|BJ42|C(43|B[44

B
B
A
C
26(A(27|B|28[A[29
D
A
C
A

Nw[>[a[>[O[>[0]w
N(m @O [>[®[O[O0[®

46|C|47|A[48

Solution

(M

In triangle QSR
ang.QSR=45°
Ang.QSR +Ang. QRS+
Ang.SOR=180°
45°+60°+
Ang.SOR=180°

Ang.SOR=75°

@)
A

D C
AB=7, BC=9, AC= 8, BD=
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Direct rul
NS B 2(AB?+BCY) £BOC = 2£BAC

— _ 0
Therefore by substituting values we get BD= 14cm =2 x¥5= 150

3) £ABC = 180° - (75 + 80)
No. of diagonals = n(n-
3)/2 = 180 — 155 = 25°
Therefore, 8x5/2=20
. £AOC = 50°
(5) .
Hence £0AC = % = 65°

©

Let the two chords be perpendicular to each other as
mentioned | question. Now in 20cm chord let radius
be hypotenuse so distance between center and chord
20 cm is obtained by

V(15:- 10:)= v 125

And for second chord we get (152 - 122) = V81

BD = DC = %2 BC Therefore distance is V(125 + 81) = V206

& AD = ¥2 BC (10)
BD = DE =-Ab

5 £CAD = 40°

£ADC = 180° - (40 - 140)

~ 2 ADB = 180 - 100 = 80°

100
Hence 2DAB = —= = 50° AD _ _ 5
AB (AD+DB) &8
AD _DE. .5

Given than,

£RPQ = 38°

£PRQ = 90° due to diameter angle in circle

2RQP =180 - (90 + 38) = 52°

£PSR = 180° - 52° = 128° (Quadrilateral opposite angle property)

(12)
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B 8 E 6 C
Draw DE parallel to AB
Since it is an isosceles trapezium
DE=5cm

and

AB = DE = DC = 5cm
Height of ADEC

5¢ = h? + 32

h=4cm

Area of trapezium

="/ (8 + 14) x 4

= 44 cm?

(13)
D

E
Join FC

Area of triangle DFC

=1/, x DF x CE

="/ x40 x 60

= 1200 cm?

Now area of triangle DFC is also

=1/, x DC x BC

So,

1200 x 2 = DC x BC

DC x BC = Area of rectangle = 2400 cm’

(14)
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A
Ih_
G h.

E

B C
Since DE is parallel to BC

So, triangle ADE is similar to triangle ABC. Draw AF perpendicular
to BC

So,

AD/pp = AB/pc = D/ = AS/pr = /3

Area of triangle ADE EXDEX’H

Area of triangle DEC ixDEx{hthl)

20 _ 3

Z
x =h
32

X = 40 cm?

(15)

ol S
£QOR = 90° + ¥% QPR

=1125"

(16)
=)

T
1
R

S u 8
Line joining midpoint of PT and TU will be parallel and half of

line PU

PU=+42+3% =5

Line joining mid — point of PT and TU
=5/2

=25cm

(17)
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R T

PQ=QT

PQ =2PS

'/2QT x PQ =72

PQ =12

PS=6

Area of trapezium PQRS
=126 +6+12) x 12
=24 x6

=144

(18)

Perpendicular drawn from center to any chord divide the]
in two equal parts.

S PM = MQ =15am

RN =NS=12cm

OQ is radius of circle
0Q = y(M0)* + (MQ)?
=y (12) + (15)?

= /369

0Q = OS=radius

ON = ,/(05)2 — (NS)?
=369 — 144

=225 =15cm

(19)
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M Q

S
LetPS=QR = bcm
RS=QP=1Icm
Area of PMRN=
Area of PQRS - [area of AMQR + area of ANRS]

o[ (Eox1) + 2Cixo)
=lb-2/31b="13=17 cm?
Area of PQRS = Ib = 51 cm?

(20)

We know, in case of similar triangle
Arsaof AABC _ 4B°
Areaof APQR  PQ?

121 _ 4B7

64 P*

11

= AB = E .

= AB =16.5cm

21
X

3

[ O\

Y Z
5 x secX

= (1/72) x sec30° = (142) x 2/73
= 2/\6

(22)
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D
In ABCE
BC-=CE
~ £CBE = 2CEB = 84°
~ £BCE =180° -2 x 84° = 12°
AD II BC (opposite sides of a rhombus)
~ £ADC + £BCD = 180°
~ «BCD = 180° - 78° = 102°
¢DCE = £BCD + £BCE

=102° + 12° = 114°
In ACDE
CD = CB (side of Rhombus)
And CB = CE (given)
SICRDECE
So, £CDE = £CED
~ 2 2CED = 180° - .DCE

FCED):= =N a0

(24)

Let PQ =x

AP x AQ = AR x AS
3x (3+x)=6x15
x=27

(26)
~ A XYZ = APQR
Ar(AXYZ) _ [XV\® _
“arargn = () =21
=5 Ar(A XYE) ik sz

5

Ar (AXYZ) = 125 cm?

@7)
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Ar (AADE) _ AD?
Ar (AABC) ~ ARB?
= ArAADE=1/9x45=5
~ Area of quadrilateral BDEC = 45 -5
=40 cm®

(28)
=~ AADQ & AABC
Ar (AADE) _ 7AD\?
Ar (AADC) (E)

2
=4/9
Ar (AADC) 2+5) /

Ar (AADE) 4 .
AT(ABDEC)  49-4 4 :45 {As, Ar (ABDEC)

= Ar (AABC) — Ar (AADE) }

Ar (AADE) _ ( 2

(29)

B (&
Ar AADE/ArAABC = (AD/AB)? = (2/7)?

= Ar AABC = 8 x 49/4 = 98 cm?

~ Area of quadrilateral BDEC = (98 - 8) cm?

=90 cm?

30)
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In APQR

2x + 3x + 4x = 180°
= 9x = 180°

= x= 20°

Now, in AUQS

2x +3x +y = 180°

=y = 180° - 5x

=y =180-5 x 20 = 80

= Supplementary angle of y = 100°

31

P 4 A~X:B
in any circle

PT? = PA x PB

=(6)’=4x%x (4 +x)

=336 =16 =4x

== 5

= Now, in APTB, by Pythagoras theoren
PB? = PT? + BT?

= 9% = 6> + BT?

=BT =3%5

~ Radius = 3v5/2

(33)

Z R

Given that, -
Axyz & APQR is similar triangle

perimetsof xyz _ xy
" perimeter of PQR ~ PQ

= 16/9 = x/3.6 = x =64 cm

JAVYAY

Penmetei of AABC X

Penmeter of APQR PQ 10
=% =x/10=x=5cm

34)

(35)
Perimeter of AABC 3

Ferimeter of APQR
AB=3x3=9aom

(36)

AB? = AD x AC
AB* =3 x (3 +9)
AB? = 36

AB =6

(44)
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A

B
DC=9cm

AC =25 cm
BCY =D % AC
Bl ==y 25 wl) =4 w3 = Them

(45)
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+ AADE ~ AABC
AT(AADE) _ ( AD )2 _ 4
" Ar(AABC) AD+DB 25
Also, Ar (BDEC) = Ar (AABC) — Ar (AADE)
. AT(AADE) _ 4

" Ar(BDEC) ~ 25-4
4 4

Ar(BDEC) 21

~Ar (BDEC) = 21 cm®

(46)
+AXYZ ~ APQR
_Ar (AXYZ) (XY
“Ar (APQR) (%)
100 _ Xy?
25 16

xy’ = 16 x 4
xy =8 cm
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